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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 367 5 2.7 7 71.7 100
2 367 6.2 2.4 8 78 100
3 360 4.8 3.1 9 53.3 98.1
4 367 9.1 4.3 13 70 100
5 366 8.6 2.5 11 78.2 99.7
6 362 7.8 4.3 12 65 98.6
7 358 8.8 4 15 59 97.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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EITHER 
Rewrite the equation in the form 
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           = 1.548...,(–0.215...)  
        θ = 0.437 
OR 
Let     2sinhθ + coshθ = rsinh(θ + a) 
                 = rsinhθcosha + rcoshθsinha 
      Equating coefficients, 
           rcosha = 2 ; rsinha = 1 
      Solving, 
            0.54930..)(  )5.0(tanh ; 3 -1 === ar  
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Sticky Note

The candidate divides through by cosh2x but does not divide the right-hand side also.













Sticky Note

The candidate tries to use double-angle formulae for hyperbolics rather than converting to harmonic or exponential form.
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1.	 Solve the equation
2 sinhθ  + coshθ = 2.


	 Give your answer correct to three significant figures.	 [7]
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Sticky Note

The candidate does not change the limits, losing a B1 mark. 

The candidate also does not deal with dx, losing the second B1 mark.












Sticky Note

The candidate reaches a correct integrand, but incorrectly integrates to logarithms rather than completing the square or partial fractions. 












Sticky Note

The candidate loses the "2" from dx which would result in the numerator being "4".

The candidate also integrates to logarithms rather than completing the square or using partial fractions. 












2.	 By putting                   , determine the value of the integral


	 Give your answer in the form lnN, where N is a positive integer.	 [8]
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EITHER 
For θ > 0, tanhθ lies between 0 and 1.   
Therefore θθ 22 tanh1tanh1 +<− so that the 
modulus of the above derivative is less than 1 
therefore convergent. 
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For θ = 1, 
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This is less than 1 therefore convergent. 
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the required result is not derived 












Sticky Note

Whilst the candidate simplifies the expression by using cothx, they then use the product rule to differentiate rather than the chain rule. 












Sticky Note

The candidate uses the chain rule but does not differentiate 1/tanhx correctly.












Sticky Note

The candidate begins to differentiate using the chain rule, but does not combine terms to gain the M mark.












	 (b)	 Consider the sequence defined by


	 (i)	 Show that


	 (ii)	 Hence show that the sequence defined above is convergent.	 [5]
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Sticky Note

The candidate uses incorrect limits for the area enclosed by C2. This was a frequently-seen error. 







Sticky Note

The candidate subtracted the areas found. This was a common error, leading to M0.

























Sticky Note

The candidate subtracted the areas (M0) and used incorrect limits (A0).

























Sticky Note

Whilst the candidate indicated C1+C2, they subtracted the areas (M0). Also incorrect limits were used (A0). 

























(ii) 
Area of region = ∫∫ +


2/


6/


2
6/


0


2 dcos
2
1dsin3


2
1 π


π


π


θθθθ  


      = ∫∫ ++−
2/


6/


6/


0


d)2cos1(
4
1d)2cos1(


4
3 π


π


π


θθθθ   oe 


      = 
2/


6/


6/


0


2sin
2
1


4
12sin


2
1


4
3 π


π


π


θθθθ 




 ++




 −  


      = 0.221  









−


4
3


24
5π  


 


M1M1 
 


 
A1A1 


 
 


A1A1 
 
 
 


A1 
 


M1 the integrals, M1 for 
addition 


 
Limits si 


 
Award A1 for one correct 
integration, A1 for fully correct 
line 


 












	 (b)	 (i)	 Show that the polar coordinates of the point of intersection of C1 and C2 are                    .


	 (ii)	 Find the area of the shaded region enclosed by C1 and C2.	 [10]
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